Wt P HEE
& [EfHIEEE

PAS
=

&t

2 FRERERHR

KEHBRBER)

175,523,408 +H
12,426 +H
175,535,834 +H

R—REFFETE (565 OME

(B FHD
N # IE 3 o Bt R AR
E IERTDEE iIF %8 E#HDEE
*E A RIERMOR | B ER onzme] wrm | con [ —mpa| T ao®
b 7% =2 4,722,986 4,722,986
i E = 8,272,793 12,426 9,000 3,426 8,285,219
2R ® 2 B 563,753 563,753
E B % B #| 107230379 107,230,379
5 B &% B B 48817241 48,817,241
oAl X E HFE 323,548 323,548
¥ E = ¥ B 699,369 699,369
AR = v ik S 4,062,510 4,062,510
X 1 Bt = 830,829 830,829
& st 175,523,408 12,426 9,000 3,426 175,535,834
3 FEE%
(B FH)
E 0O B R RN 3
T X 4 FHE%8 i BA
EExtie | HH{E | FOth | —H&E
FETEEQEEICAITSHICET S
®a
ok e o s [(BEME]
gxﬁf%ﬁ*}gﬁzég 12,426 9,000 3426| -E i WMAIESRBHA
= IR CEZHR SF05T(2019)~2(2020)4F
B EE {9268
-t FARAIE SFN2(20200F12AFE
& 5 12,426 9,000 3,426




